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This resource pack has fifty numbered daily activities for classwork and
homework. The activities correspond to the activities in the lesson plans.
Answers to the activities can be written in this book.

These resources are bilingual. We hope that presenting the activities in two
|an9uages will help learners to learn the maths words in both their home |an9u09e

and in Eng|ish This will equip them for |i1°e|on9 learning of maths.

Iflearners work systematically through these maths activities, they will cover
the whole curriculum. Hopefully these activities will be a fun way to help them
acquire this maths know|ed9e.

Mat.seno

Paka ye ya didiriswa e na le mesongwana ye masomehlano yeo e nomorilwego
ya tsatsi ka tsatsi ya ka phaposing le ya gae. Mesongwana e nydlelana le
mesongwana yeo e lego ka gare ga boitokisetso bja dithuto. Dikarabo tsa
mesongwana di ka ngwalwa ka mo pukung ye.

Didiriswa tse ke phetolelo ya maleme a mabedi. Re tshepa go re go hlagisa
mesongwana ye ka maleme a mabedi go tla thuga barutwana go ithuta mantsu
ammetse kaleleme la gae le ka Seisemane. Se se tla ba tlabakela ka thuto ya
bophelo ka moka ya mmetse.

Ge barutwana ba ka $oma ka peakanyo ya mesongwana ye ya mmetse, ba tla
ithuta, ba akaretsa kharikhulamo ka moka. Tshepo ya rena ke go re mesongwana

ye e tla ba tsela ya go kgahliéo ya go ba thusa go hwet&a tsebo ya mmetse.
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Term 2 Lesson

Term 2 Lesson |

Kotara Ya 2 Thuto Ya |

Addition and subtraction using the column method
Go hlakant.zha le go nt.sha ka go Somisa mokgwo

wa kho|omo

CLASSWORK MOSOMO WA KA PHAPOSING

Calculate using a place value table and the column method.

Bdlela o $omisa tafola ya kemapadlo le mokgwa wa kholomo.

a I5+32=

T

O

3

Learner Activitﬂ Book |



Term 2 Lesson |

c 24+ 40

2 Grade 2 Mathematics



Term 2 Lesson

d 65-45=

— O

Learner Activit3 Book 3



Ter‘m 2 Lesson

HOMEWORK MOSOMO WA GAE

Cadlculate using a place value table and the column method.

Badlela o $omiga tafola ya kemapdlo le mokgwa wa kholomo.

Ti0:

— O

b 67-33=
- T:0:
+

— O

[, Grade 2 Mathematics



Term 2 Lesson 2

Term 2 Lesson 2
Kotara Ya 2 Thuto Ya 2

Addition with cqr‘r‘ging in the ones P|oce
Tlhakant.gho ka go rwala boemong bJ'o ditee

CLASSWORK MOSOMO WA KA PHAPOSING

Cadlculate using a place value table and the column method.

Bdlela o Somiga tafola ya kemapdlo le mokgwa wa kholomo.
a 194 23=

O

Learner Activita Book 5



Term 2 Lesson 2

b 38 + 29

c 27+ 49 =

6 Grade 2 Mathematics



Term 2 Lesson 2

e 27 +13=

Learner Activitg Book 7



Term 2 Lesson 2

16 + St =

.F

8 Grade 2 Mathematics



Term 2 Lesson 2

HOMEWORK MOSOMO WA GAE

Cadlculate using a place value table and the column method.

Balela o $omiga tafola ya kemapdlo le mokgwa wa kholomo.

a |I7+24=

7O

b 7+85=
1.0
+

— O

Learner Activita Book 9



Ter‘m 2 Lesson 3

Term 2 Lesson 3
Kotara Ya 2 Thuto Ya 3

Pr‘octising addition with cor‘r‘ging
Co itlwaetsa go hlakant.gha ka go rwala

CLASSWORK MOSOMO WA KA PHAPOSING

Cadleulate using the column method.

Bdlela o Somiga tafola ya kemapdlo le mokgwa wa kholomo.

a 27+ 24 =

T

O

‘|

I0 Grade 2 Mathematics



Term 2 Lesson 3

b 16 +18

c 39+358=

Learner Activita Book 1l



Term 2 Lesson 3

d 21+ 69

e 69+ 2=

|2 Grade 2 Mathematics



Term 2 Lesson 3

HOMEWORK MOSOMO WA GAE

Cadlculate using the column method.

Balela o $omiga tafola ya kemapdlo le mokgwa wa kholomo.

a 28+12=

7O

b 13+67=

Learner Activitlj Book I3



Term 2 Lesson 3

c Sk+17=
- 1T:0
o

— O

|l.. Grade 2 Mathematics




Term 2 Lesson [..

Term 2 Lesson L
Kotara Ya 2 Thuto Ya [,

Addition with car‘r‘ging on a number line
Tlhakant.gho ka go rwala motha|0|oo|on9

CLASSWORK MOSOMO WA KA PHAPOSING

Solve using a number line. Check your answer using the column method.

Rarolla ka go Somisa mothalopalo. L_ekola karabo ya gago ka go Somisa mokgwa
wa kholomo.

a 38+7=

A
\J

Learner Activitﬂ Book 15



Ter‘m 2 Lesson L

b a9+ 76

c 34++6

6 Grade 2 Mathematics



Ter‘m 2 Lesson [..

d 3+ 67

e 5+85

Learner Activitﬂ Book 17



Ter‘m 2 Lesson L

HOMEWORK MOSOMO WA GAE

Solve using a number line. Check your answer using the column method.

Rarolla ka go Somisa mo‘tha|opa|o. L_ekola karabo ya gago ka go Somisa mokgwa
wa kholomo.

47 + 8 =

A

\

I8 Grade 2 Mathematics



Term 2 Lesson 5

Term 2 Lesson
Kotara Ya 2 Thuto Ya 9)

Consolidation
Teefatso

I  Cadlculate using a place value table and the column method.

Balela o $omiga tafola ya kemapalo le mokgwa wa kholomo.

26 + 37 =

T

O

3

Learner Activitﬂ Book 19



Term 2 Lesson 5

2 Solve using expanded notation and the column method.

Rarolla ka go Somisa palo yeo e katoloéitéwego le mokgwa wa kholomo.

17 + 34 =

e
O

20 Grade 2 Mathematics



Term 2 Lesson 5

3 Solve using a number line and the column method.

Rarolla ka go Somisa motha|opa|o le mokgwa wa kholomo.

68 + 8 =

A
\

Learner Activit3 Book 2l



Ter‘m 2 Lesson b

Term 2 Lesson 6
Kotara Ya 2 Thuto Ya 6

Assessment.

Kelo

22 Grade 2 Mathematics



Ter‘m 2 Lesson 7

Term 2 Lesson /
Kotara Ya 2 Thuto Ya ]

Addition with car‘r‘ging in context
Tlhakantgho ka go rwala tgeo di amanago

CLASSWORK MOSOMO WA KA PHAPOSING

Solve the following problems:

Rarolla marara a a latelago:
| I had23 oranges.
My dad gave me 9 oranges.
How many do I have now?
Ke be ke na le dinamune tge 23.
Tate wa ka o mphile dinamune tse 9.

Na 90bJa|e ke na le dinamune tge kae?

23 oranges q oranges
dinamune tge 23 dinamune tge 9

T ?oronges a|t09ether -

? ya dinamune ka moka

Learner Activita Book 23



Ter‘m 2 Lesson 7

2 Bonolo has 27 bananas.
Silo has 8 more bananas than Bonolo.
How many bananas does Silo have?
Bonolo o na le dipanana tse 27.
Silo o fetiga Bonolo ka dipanana tse 8.

Na Silo o na le dipanana tse kae”?

27 ——

Bonolo 8 more/

go fetida —

Silo

HOMEWORK MOSOMO WA GAE

Solve the fo”owing problem:

Rarolla marara a a latelago:
| Thdbo has 47 green crayons and
5 yellow crayons.
How many crayons does Thabo have dltogether?

Thabo o na le dikhrayone tse ditalamorogo tSe 47 le tde diserolane tse 5.

Na ge dikhrogone tSa Thabo di hlakana ka moka ke tse kae?

47 green/ 5 giellow/
tge dita|amorogo t&e diserolane

\ ? crayons O|'t09€t|"\e|"/ —/
ya dikhrayone ka moka

2/, Grade 2 Mathematics



Term 2 Lesson 8

Term 2 Lesson 8
Kotara Ya 2 Thuto Ya 3

Making addition number sentences

OO dil"d mofbkopdo a 80 Hokontél‘\o

CLASSWORK MOSOMO WA KA PHAPOSING

Use the column method to check these answers. Mark each one with a tick or a
cross.

Somiza mokgwo wa kholomo go lekola dikarabo tge. Swaya ye nngwe le ye
nngwe ka go koreka 9oba ka sefapano.

| 65+15=78 2 24 +69 =93
Tio| Tio|
615 2
+i14i5 +:i6:9:
. 1i0:0 5 +5=100 1304 +9 =13
1 7:0:T 60+ 10 = 70 180T 20 + 60 = 80
1810 a3
3 29+ 55=8k4 b 36 +18 =52
Tio| Tio|
29 36
+i5i5 +i1:i8:
e 0 9+ 5 = 10 6+ 8 =M
1 7:0iT 20+ 50 = 70 40T 30+ 10 =40
[ 8k Sk

Learner Activitg Book 25



Ter‘m 2 Lesson 8

HOMEWORK MOSOMO WA GAE

Use the column method to check this addition. Mark it with a tick or a cross.

Somiga mokgwa wa kholomo go lekola tlhakantsho ye. Swaga ka go koreka 9oba
ka sefapano.

28 + 17 = 45
Tio|
28

+ 17
1i5i0. 8 +7 =15
13:0:T: 20+ 10 = 30
b5

26 Grade 2 Mathematics



Term 2 Lesson q

Term 2 Lesson 9
Kotara Ya 2 Thuto Ya S|

Assessment,

Kelo

Learner Activitt:] Book 27



Term 2 Lesson |O

Term 2 Lesson 10
Kotara Ya 2 Thuto Ya 10]

Consolidation
Teefatso

I  Use the column method to check this answer. Mark it with a tick or a cross.

Somisa mokgwa wa kholomo go lekola karabo ye. Swaya ka go koreka goba
ka sefapano.

46 + 19 = 65
TiO|
b6

+:1:9:
1 1i5:0: 6 + 9 =15
'S5 0 T 40 + 10 = 50
1615

2 Solve using a bar diagrom. Write a number sentence to show your answer.

Rarolla ka go Somisa taekramo ya metha|opepet|a. Ngwa|a |e1°okopa|o go laetsa
karabo ya gago.
a [hembihas 33 red pencils and 17 blue pencils.

How many penci|s does Thembi have?

Thembi o na le diphensele tse khubedu t&e 33 le tie ditaldleratadima tse 17.
Na Thembi o na le diphensele tse kae?

33 red/ 17 blue/
tse khubedu t&e taldleratadima

— ? pencils a|t09ether/ -

ya diphensele ka moka

28 Grade 2 Mathematics



Ter‘m 2 Lesson |O

b Jackis 25 years old.

Thabo is 8 years older.
How old is Thabo?

Jack o nale mengwaga ye 25.
Thabo o feta Jack ka mengwaga ye 8.

Na Thabo o nale mengwaga ye mekae”

25—
Jack 8 older

yo mogolo ka 8

Thabo

c¢ Mbdli has 22 eggs.
He mom gave her 19 more eggs.
How many eggs does she have now?

Selaelo o na le mae a 22.
Mma wa gagwe o mo file mae a mangwe gape a 9.
Na gabjale Selaelo o na le mae a makae?

22 eqgs/ 19 eggs/
ya mae _— yamae

— ? eggs a|toget|'\er/ -

ya mae ka moka

Learner Activitlj Book 29



Term 2 Lesson ”

Term 2 Lesson |l
Kotara Ya 2 Thuto Ya 1

Subt.raction with |oor‘r‘owing
Go ntha ka go adima

CLASSWORK MOSOMO WA KA PHAPOSING

Cadleulate using a place value table and the column method.

Bdlela o Somiga tafola ya kemapdlo le mokgwa wa kholomo.

a 63-26=
_|_

O

30 Grade 2 Mathemat.ics



Ter‘m 2 Lesson ”

b 71-47

Learner Activit-j Book 3l



Ter‘m 2 Lesson ”

HOMEWORK MOSOMO WA GAE

Cadlculate using a place value table and the column method.

Badlela o $omiga tafola ya kemapdlo le mokgwa wa kholomo.

90 - 88 =

T0;

32 Grade 2 Mathematics



Term 2 Lesson |2

Term 2 Lesson |2
Kotara Ya 2 Thuto Ya |2

Pr‘actising subt.raction with bor‘r‘owing

Co itlwaet.sa go nt.sha ka go rwala

CLASSWORK MOSOMO WA KA PHAPOSING

Cadlculate using the column method and check your answer using addition.

Balela o $omiga mokgwa wa kholomo o be o lekole karabo ya gago ka go Somisa
mokgwa wa go hlakantsha.

a 82-45 =
_|_

O

Learner Activitﬂ Book 33



Term 2 Lesson |2

b 71-27

3[.. Grade 2 Mathematics



Term 2 Lesson |2

Learner Activita Book 35



Term 2 Lesson |2

Check:

Lekola:
7.0

36 Grade 2 Mathematics




Term 2 Lesson |2

HOMEWORK MOSOMO WA GAE

Cadlculate using the column method and check your answer using addition.

Balela o $omiga mokgwa wa kholomo o be o lekole karabo ya gago ka go Somisa
mokgwa wa go hlakantsha.

a 35-9 =
1.0
o
T
Check:
L_ekola:

Learner Activitlj Book 37



Term 2 Lesson |2

b 90-8

38 Grade 2 Mathematics



Term 2 Lesson |3

Term 2 Lesson |3
Kotara Ya 2 Thuto Ya |3

Subt.raction with |oor‘r‘owin9 on a number line

Go ntgha ka go adima motho|0|oq|on3

CLASSWORK MOSOMO WA KA PHAPOSING

Solve using a number line.

Rarolla ka go Somisa motha|opa|o.

I 30-7=

A
\

2 95-26=

A
\

3 78-19=

A
\

L 8l-6=

A
\/

Learner Activitg Book 39



Ter‘m 2 Lesson |3

S5 60-22 =

\

A

6 92 -84 =

\

A

HOMEWORK MOSOMO WA GAE

Solve using a number line.

Rarolla ka go Somisa mothoﬂopalo.

| 63-26=

A

2 77-47 =

\

A

[.,O Grade 2 Mathematics



Term 2 Lesson L
Kotara Ya 2 Thuto Ya |/

Assessment,

Kelo

Learner Activitﬁ Book l..l



Term 2 Lesson |5

Term 2 Lesson |15
Kotara Ya 2 Thuto Ya 15

Consolidation

Teefatso

I Solve 85-37 = using a number line.
Rarolla 85 - 37 = o Somisa motha|opa|o.

2 Solve 8I-16 = using the column method.
Rarolla 81— 16 = o Somisa mothadlopadlo.

T

l..2 Grade 2 Mathematics



Term 2 Lesson |5

3 Use addition to check your answer to 81— 16 =

Somisa thakantsho go lekola karabo ya gago ya 8l - 16 =

T:O

using a base ten kit and a place value table.

o Somisa khiti ya seHopha sa lesome le tafola

i i i
0 1 O
1 1 1
R
| | |
1 1 1
1 1 1
4 Solve 83-25 =

Rarolla 83 - 25 =

ya kemapadlo.
i i i
T 0
1 1 1
1 1 1

— O

Learner Activi’uj Book [..3



Term 2 Lesson |b

Term 2 Lesson |6
Kotara Ya 2 Thuto Ya |6

Subtraction with |oor‘r‘owing in context (l)
Cio ntsha ka go adima t3eo di amanago (1

CLASSWORK MOSOMO WA KA PHAPOSING

Use the diagroms to solve the problem and check your answer using the column

method.

Somiga ditaekramo go rarolla marara o be o lekole karabo ya gago ka go Somisa
mokgwa wa kholomo.

| There are 43 apples.
The learners eat 26 apples.
How many apples are left?
Go nale diapole tse 43.
Barutwana ba ja diapole tse 26.

Na go Setse diapole tge kae?

43 apples/

/‘ ya diapo|e \

26 apples eaten/ ? _
ya diapo|e tseo diJe|we90

LL Grade 2 Mathematics



Term 2 Lesson |b

Check:
Lekola:

Learner Activita Book L5



Ter‘m 2 Lesson |b

2 1 have 52 beads.
29 are yellow and the rest are green.
How many green beads do I have?
Ke na le dipheta tse 52.
29 ya tSona ke tse serolane mola tse dingwe ka moka e le t3e ditalamoroge.

Na ke na le dipheta tse kae tse di‘ta|omorogo?

52 beads/

__———— " yadipheta ey

— 99 yellow/ ? 9reen/

tse serolane tse ‘talamorogo

Check:
Lekola:

L6 Grade 2 Mathematics



Term 2 Lesson lb

HOMEWORK MOSOMO WA GAE

Use the diagrom to solve the prob|em and check your answer using the column

method.

Somisga ditaekramo go rarolla marara o be o lekole karabo ya gago ka go Somisa
mokgwa wa kholomo.

There are 37 bananas.

We eat 18 bananas.

How many bananas are left?
Go na le dipanana tse 37.

Re ja dipanana tse 18.

Na go Setse dipanana tZe kae”?

37 bananas/

__—— yadipanana —

I8 bananas eaten/ ? .

ya dipanana tseo diJe|we90

Check:
Lekola:

Learner Activitﬂ Book L7



Ter‘m 2 Lesson |7

Term 2 Lesson |/
Kotara Ya 2 Thuto Ya ']

Subtraction with |oor‘r‘owing in context (2)
Cio ntsha ka go adima tseo di amanago (2)

CLASSWORK MOSOMO WA KA PHAPOSING

Cadleulate using the column method.

Bdlela o Somiga tafola ya kemapdlo le mokgwa wa kholomo.

a 74-56 =

T

O

l..g Grade 2 Mathematics



Term 2 Lesson |7

b 65-146

Learner Activita Book Lq



Term 2 Lesson |7

d 48-39

e 35-16

50 Grade 2 Mathematics



Term 2 Lesson |7

f 6l-34

Learner Act,ivit,H Book 5l



Ter‘m 2 Lesson |7

HOMEWORK MOSOMO WA GAE

Cadlculate using the column method.

Badlela o $omiga tafola ya kemapdlo le mokgwa wa kholomo.

T 0

-0

T
b 60-2I=

52 Grade 2 Mathematics



Term 2 Lesson |8

Term 2 Lesson |18
Kotara Ya 2 Thuto Ya 18

Making subtraction number sentences

OO dil"d mc:ff:kopdo a 80 ntéha

CLASSWORK MOSOMO WA KA PHAPOSING

Use the column method to check these answers. Mark each one with a tick or a
cross.

Somiza mokgwo wa kholomo go lekola dikarabo tge. Swaya ye nngwe le ye
nngwe ka go koreka 9oba ka sefapano.

| 84 —-15=72 2 56-19=33
T:O: T:O:
A R
U N :
Ry 6
~ 15| SIEE
. 190 4 -5=9 . 1710 16-9=7
1610 T:70-10 =60 1310 T:40-10 =30
1619 137
3 34-18 =26 b 6l-7 =54
TiO; TiO;
A I
NS ) '
8w N1
~ 18| -7
16 0 -8 =6 4O -7 =4
10T 20-10 =10 1510 T:50- 0 =50
BN IERE

Learner Activita Book 53



Ter‘m 2 Lesson |8

HOMEWORK MOSOMO WA GAE

Use the column method to check this answer. Mark it with a tick or a cross.

e mokgwa wa kholomo go lekola karabo ye. E swaye ka go koreka goba ka
sefapano.

4k0-3 =37
Ti0]

13

¥

o_

7
30

0. 10 - 3
T.30- 0

w
N|O YW

5L Grade 2 Mathematics



Ter‘m 2 Lesson |q

Term 2 Lesson |q

Kotara Ya 2 Thuto Ya 19

Consolidation of addition and subtraction
Teefatso Ya go hlakantgha le go nt.sha

CLASSWORK MOSOMO WA KA PHAPOSING

Check these answers. Mark each one with a tick or a cross.

Lekola dikarabo tge. Swaya ye nngwe le ye nngwe ka go koreka 9oba ka sefapano.

a 36+27 =62
T

ol —|IN W
w|lo wiNwo O

c Sk +37 =499

6
8

:8§O: 6 — 8 =38
0:T:30-20=10
8 |

b 55+ 29 =84
Tio!

||
S F

1. 50 + 20

N — [N WD

5

q .
54§O:S+q

0

L

Q

|
6
7
EOIEO: 6 — 7
0:T:40-10
q

Learner Activitlj Book 55



Term 2 Lesson |q

HOMEWORK MOSOMO WA GAE

Check this answer. Mark it with a tick or a cross.
L_ekola karabo ye. E swaye ka go koreka goba ka sefapano.

I 73-25=48
T 0!
NS
A3
- 1215
. 18:0.13-5=38
‘40T 60-20=140
b8

56 Grade 2 Mathematics



Ter‘m 2 Lesson 20

Term 2 Lesson 20
Kotara Ya 2 Thuto Ya 20

Consolidation
Teefatso

Solve the fo||owin9. Write a number sentence and use the bar diagrom to show
your answer.

Rarolla tse di latelago. Ngwala lefokopalo o be o Somige taekramo ya
methalopepetla go laetsa karabo ya gago.

| There were 26 children in the park.
It children left the park.
How many children are left?
Go be go na le bana ba 26 ka phakeng
Bana ba It ba ile ba tloga phakeng.

Na go Setse bana ba bakae?

26 children/

__——— yabana < ——

T lleft/) — o
ba J(,|ogi|e '

Learner Activitﬂ Book 57



Ter‘m 2 Lesson 20

2 Nomsa has 27 oranges.
Thembi has 17 oranges.
How many more oranges does Nomsa have than Thembi?
Nomsa o na le dinamune tse 27.

Thembi o na le dinamune tse 17.

Na dinamune t$a Nomsa di feta t&a Thembi ka tge kae?

/127\

Nomsa

? more/ —
Thembi go fetisa

3 Fillin the missing numbers to show 63 -27 =

Tlata dipadlo tseo di tlogetswego go laetsa 63 - 27 =

T:0

5) |
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4 Check this answer. Mark it with a tick or a cross.
L_ekola karabo ye. E swaye ka go koreka 9oba ka sefapano.

58 —29 = 39
' T:O!
NS
X 8

- 1219
190 18-9=49
12101 T 40-20=20
209
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Term 2 Lesson 2|
Kotara Ya 2 Thuto Ya 2|

Assessment.

Kelo
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Ter‘m 2 Lesson 22

Term 2 Lesson 22

Kotara Ya 2 Thuto Ya 22
Word Pr‘ob|ems using bar diagr‘ams

Rarolla mararantsu ka go $omisa dit.aekramo tia

metha|0|oepet|o

CLASSWORK MOSOMO WA KA PHAPOSING

Draw circles and diagrams to he|p you solve these prob|ems. Write a number
sentence with the answer.

Thadla didiko le ditaekramo go go thusa go rarolla marara a. Ngwala lefokopalo le
karabo.

a Ihave5 oranges.
My sister gives me 3 oranges.
How many oranges do I have altogether?
Ke na le dinamune tge 5.
Sesi wa ka o mpha dinamune tse 3.

Na ke na le dinamune tse kae ge di hlakane ka moka?
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b There were 6 boys in a classroom.
There are 3 more girls than boys.
How many girls are there?
Go be go na le basemane ba 6 ka phaposing.
Go na le basetsana ba ba 3 go feta basemane.

Na go na le basetsana ba bakae?
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HOMEWORK MOSOMO WA GAE

Draw circles and a bar diagram to represent this problem.

Thdla didiko le taekramo ya methdlopepetla go emela padlorara ye.
I have 6 pencils.

My mom buys me 2 more.

How many pencils do I have altogether?

Ke na le diphensele tse 6.

Mma wa ka o nthekela tse 2 gape.

Na ke na le diphensele tse kae ge di hlakane ka moka®?
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Term 2 Lesson 23
Kotara Ya 2 Thuto Ya 23

Pr‘dctising bar clicgr‘ams
Co itlwaetsa dit aekramo t&a methcﬂoPePeUG

CLASSWORK MOSOMO WA KA PHAPOSING

Draw circles and diagrams to help you solve these problems. Write a number
sentence with the answer.

Thadla didiko le ditaekramo go go thusa go rarolla marara a. Ngwala lefokopadlo le
karabo.

| There are Il trees in the garden.
6 of them are avocado trees and the others are pawpaw trees.
How many pawpaw trees are there?
Go nale mehlare ye Il ka serapeng
Ye 6 ya yona ke meafokhatha mola ye mengwe e le mehlare ya diphopho.

Na go na le mehlare ye mekae ya diphopho ka serapeng?
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2 Therearel3 oranges and 7 opp|es.
How many more oranges are there than app|es?
Go na le dinamune tge 13 le diapole tse 7.

Na go na le dinamune tse kae tsa go feta diapole”
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HOMEWORK MOSOMO WA GAE

Draw circles and a bar diagram to represent the problem.

Thdla didiko le taekramo ya methdlopepetla go emela palorara ye.
There are 7 children in a playground.

3 of them are boys.

How many girls are there?

Go na le bana ba 7 ka lebdleng la dipapadi.

Ba ba 3 ba bona ke basemane.

Na go na le basetsana ba bakae?
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Ter‘m 2 Lesson 2[..

Term 2 Lesson 2[..

Kotara Ya 2 Thuto Ya 21
So|ving word |or‘ob|ems using bar diagr‘ams (1)

Go rarolla mararant.su ka go somisa dit.aekramo tia

metha|0|oepet|o (1

CLASSWORK MOSOMO WA KA PHAPOSING

Draw a bar diagrom. Then, write a number sentence and the answer.
Thala taekramo ya methalopepetla. Bjale ngwala lefokopalo le karabo.
a Ihave5 mangoes.

My brother gives me 3 more mangoes.

How many mangoes do I have altogether?

Ke na le dimanko tge 5.

Buti wa ka o mpha dimanko tse dingwe gape tse 3.

Na ke na le dimanko t&e kae ge di hlakana ka moka?
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b There are children in the classroom.
4 of them are Grade Is and 8 are Grade 2s.
How many children are there dltogether?
Go nale bana ka phaposing ya borutelo.
Ba ba 4 ba bona ke ba Kreiti | mola ba 8 e le ba Kreiti 2.

Na go na le bana ba bakae ge ba hlakana ka moka?
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HOMEWORK MOSOMO WA GAE

Draw a bar diagram to represent the problem.

Thdla taekramo ya methalopepetla go emela palorara ye.

There are biscuits in a container.

8 of them are choc chip and 6 of them are almond.

How many biscuits are there in the container?

Go na le dibiskiti ka gare ga setshelo.

T&e 8 t3a tEona ke t&a choc chip mola tée 6 t&a tdona e le ta almond.

Na go na le dibiskiti te kae ka gare ga setshelo?
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Term 2 Lesson 29
Kotara Ya 2 Thuto Ya 25

Consolidation
Teefatso

Draw a bar diogram. Then write the number sentence and solve it.

Thala taekramo ya methdlopepetla. Bjale ngwala lefokopadlo o be o le rarolle.

I T haves apples.
My friend has 3 more apples than I have.

How many apples does she have?
Ke na le diapole tse 5.
Mogwerq wa ka o mphetiéa ka diapo|e tge 3.

Na mogwera wa kaonale diapole tge kae”?
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2 There are 12 children on the playground.
6 of them leave.
How many children remain”
Go na le bana ba 12 ka lebdleng la dipapad..
Ba 6 ba bona ba a tloga.

Na go Setse bana ba bakae?
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Term 2 Lesson 2b

Kotara Ya 2 Thuto Ya 26
So|vin8 word Ior‘ob|ems using bar diogr‘dms (2)

Go rarolla mararantsu ka go somisa dit.aekramo t3a

metha|0|oepet|o (2)

CLASSWORK MOSOMO WA KA PHAPOSING

Draw a bar diagrom. Then, write a number sentence and answer.

Thala taekramo ya methalopepetla. Bjale ngwala lefokopadlo le karabo.
a There were 8 cows in the field.
Some more cows came to the field and joined them.
Now there are I5 cows. How many cowsJoined them?
Go be go nale dikgomo tse 8 ka tshemong.
Dikgomo tse dingwe gape di tlile ka tshemong t3a kopana le tseo dilego

ka téhemong.

Gobjo|e go nale dikgomo tSe I15. Na go tlile dikgomo tse kae tsa go kopana le
tSeo di lego ka téhemong?
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b There are 42 animdls in the farm yard.
2l are cows and the others are goats.
How many goats are there?
Go nale diphoofolo tse 42 ka polaseng.
Tse 24 ke dikgomo mola tse dingwe e le dipud..
Na go na le dipudi tse kae?
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HOMEWORK MOSOMO WA GAE

Draw a bar diagram to represent the problem.

Thdla taekramo ya methalopepetla go emela palorara ye.
There were 9 children in the bus.

Some more children came and got on.

Now there are 17 children.

How many children came®?

Go be go na le bana ba 9 ka peseng.

Bana ba bangwe gape ba tlile ba namela.

GabJo|e go na le bana ba 17.
Na go tlile bana ba bakae?
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Term 2 Lesson 27
Kotara Ya 2 Thuto Ya 21

Find the or‘igincﬂ number using subt.raction

Hwetka qu|o Yya mathomong ka go nt.sha

CLASSWORK MOSOMO WA KA PHAPOSING

Draw a bar diagrom. Then, write a number sentence and the answer.
Thala taekramo ya methalopepetla. Bjale ngwala lefokopadlo le karabo.
a Busi had some crayons.

After her cousin gives her 5 more crayons she has 13 crayons.

How many crayons did she have in the beginning?

Busi o be a nale dikhrayone di se kae.

Morago gagore motswala wa gagwe a mo fe dikhrogone tse dingwe tse 5, 0
na le dikhrayone tse 13.

Na o be a nale dikhrayone tge kae mathomong?
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b There were some taxis in a taxi rank.
It taxis came and there are 43 taxis now.
How many taxis were there in the beginning?
Go be go nale ditekisi di se kae renkeng ya ditekisi.
Go tlile ditekisi tse I4, gabJa|e go nale ditekisi t&e 43.

Na go be go na le ditekisi tse kae ma‘thomong?
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HOMEWORK MOSOMO WA GAE

Draw a bar diagram. Then, write a number sentence and the answer.
Thdla taekramo ya methalopepetla. Bjale ngwala lefokopdlo le karabo.
A group of children is playing together.

Lf 6 more children join them there will be 17 children.

How many children were there at the beginning?

Sehlopha sa bana se raloka mmoge.

Ge bana ba bangwe ba 6 ba kopana le bona, e tla ba bana ba I7.

Na go be go na le bana ba bakae mathomong?
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Term 2 Lesson 28
Kotara Ya 2 Thuto Ya 28

Find the or‘igincd number using addition
Hwetka |oc1|o Yya mathomong ka go hlakantgha

CLASSWORK MOSOMO WA KA PHAPOSING

Draw a bar diagram. Then, write a number sentence and answer.
Thala taekramo ya methalopepetla. Bjale ngwala lefokopdlo le karabo.
a Youhad some sweets.

After you ate 6 sweets, you have It sweets left.

How many sweets did you have to begin with?

O be o na le malekere a mmalwa.

Morogo ga go ja malekere a 6, o Setse ka malekere a It

Na o be o na le madlekere a makae a go thoma?
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b There were some children in a park.
After 18 children left, 29 children remained.
How many children were there in the park at the beginning”
Go be go na le bana ba mmalwa ka phakeng
Morago ga gore bana ba 18 ba tloge, bana ba 29 ba ile ba a sdla.
Na go be go na le bana ba bakae ka phakeng mathomong?
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HOMEWORK MOSOMO WA GAE

Draw a bar diagram. Then, write number a sentence and the answer.
Thdla taekramo ya methalopepetla. Bjale ngwala lefokopadlo le karabo.
Norma picked some flowers.

4 of the flowers died.

13 flowers are still fine.

How mMany flowers did Norma have in the beginr\ing'.P

Noma o kgile maloba a mmalwa.

Maloba a & a hwile.

Maloba a 13 a sa lokile.

Na Noma o be a na le maloba a makae mathomong?
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Term 2 Lesson 2q

Term 2 Lesson 29
Kotara Ya 2 Thuto Ya 249

Assessment,

Kelo
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Term 2 Lesson 30
Kotara Ya 2 Thuto Ya 30

Consolidation
Teefatso

Draw a bar diogram. Then, write the number sentence and the answer.
Thdla taekramo ya methalopepetla. Bjale ngwala lefokopadlo le karabo.
I My auntis |9 years old.

Her brother is 8 years younger than her.

How old is her brother?

Rakgadi wa ka o na le mengwaga ye 19.

O feta buti wa gagwe ka mengwaga ye 8.

Na buti wa gagwe o na le mengwaga ye mekae?
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2 A company has some trucks.
Ifit buys 6 more trucks it will have 18 trucks.
How many trucks did it have in the beginning®
Khamphani e na le dillori t&e mmalwa.
Ge e kareka tse dingwe gape tse 6, e tla ba le dillori tse 18.

Na khamphani e be e na le dillori tse kae ma‘tl‘\omong?
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3 You have some bananas.
After you ate 3 bananas you have 8 bananas left.
How many bananas did you have to begin with?
O na le dipanana tse mmalwa.
Morogo ga go ja dipanana t&e 3, o $etse ka dipanana tse 8.

Na o be o nale dipanana tse kae tsa go thoma™

8L Grade 2 Mathematics



Term 2 Lesson 3|

Term 2 Lesson 3|
Kotara Ya 2 Thuto Ya 3l

Copdcitg using non-standard units

Mothamo ka go Somisa cliguniti Lseo e sego L$a semmuso

CLASSWORK MOSOMO WA KA PHAPOSING

| How many cups of sand do you think will fill up a 2 £ bottle?

Na o nagana go re ke dikomiki te kae t$a santa teo di ka tlatsago lepotlelo la
dilitere tse 27

2 Filla2 ¢bottle with sand and compare your estimation with the answer.

Tlatsa lepotlelo la dilitere tse 2 ka santa gomme o bapetse kakanyo ya gago
le karabo.

3 Draw this bottle in your book.
Thadla lepotlelo le ka pukung ya gago.

an
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Now draw the fo”owing and write how many spoonﬁﬂs of water were used:

BJ'ale thala tse di |ate|ago obe o ngwale le palo ya madlepola a go tlala a meetse

aoa éomiéitéwego:

a

HOMEWORK MOSOMO WA GAE

How many spoons of water/sand are there in each bottle? The first one has one

Spoon.

Na ke malepola a makae a meetse/santa ao a |ego ka |epot|e|on9 le |en9we le le

o
0

-
-

-
-

86 Grade 2 Mathematics




Term 2 Lesson 32

Term 2 Lesson 32
Kotara Ya 2 Thuto Ya 32

The st.andard unit of\caPacitg

Yuniti Yya semmuso ya mothamo

CLASSWORK MOSOMO WA KA PHAPOSING

|  How do we write litre in short?

Na lentsu le la litere re le ngwala bjang ka bokopana®

2 Use the same containers as for the class activity Put them in order from the

container that holds the most to the container that holds the least.

Somiza ditshelo tsa go swana bJa|e ka mosomo wa phapoéi. Bea ditshelo ka
tatelano go thoma ka setshelo seo se swerego kudu go ya go setshelo seo se
swerego gannyane.

3 Draw the following obJects:
Thadla dilo te di |ate|090:
a Containers that hold less than I litre.

Setghelo seo se swerego ka tlase ga litere e |.
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b Containers that hold I litre.

Setshelo seo se swerego litere e |.

¢ Containers that hold more than | litre.

Setshelo seo se swerego go fetalitere e .

4 Mom buys 2 litres of milk. There are 3 people in our family Each of them
drinks | litre of milk for breakfast every day Did Mom buy enough milk?

Mma o reka dilitere t&e 2 t&a maswi. Go na le batho ba ba 3 ka |apen9 la geso.
Yo mongwe le yo mongwe wa bona o nwa litere e | ya maswi ka difihlolo tsatsi
le |en9we le le |en9we. Na mma o rekile maswi a go lekana batho ka mo 9ae?
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HOMEWORK MOSOMO WA GAE

|  Draw 3 containers and label them as follows: holds less than I litre, holds | litre,

and holds more than one litre.

Thadla ditshelo tse 3 o di ngwale ka tsela ye: se swere ka tlase galitere e |, se
swere litere e |, se swere go fetalitere e tee.

2 Draw pictures of three items from your kitchen cupboard or fridge and say if

it holds more or less or exactly | litre.

Thadla diswantsho tga dilo t&e tharo tsa ka khapoteng ya mora|en9 goba tsa
ka setéidifatéing gomme o hlalose gore se tshela go feta, ka tlase goba go
tlatsa litere e .

3 You have invited 7 friends to your house. Would you buy | litre ofJuice for
them to drink and why?

O memile bagwero ba 7 go tla ga geno. Na o ka ba rekela senotsididi sa litere e

| gore ba nwe, ka lebaka la eng?
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Term 2 Lesson 33

Term 2 Lesson 33
Kotara Ya 2 Thuto Ya 33

Cancitg: addition and subt.raction Pr‘o|o|ems
Mothamo: marara a go hlakant.sha le go nt.sha

CLASSWORK MOSOMO WA KA PHAPOSING

|  Estimate about how much water each container can hold.

Akanga go re setshelo se sengwe le se sengwe se ka rwala meetse a
makaakcur\g'.P

a b c d

=

*/

2. Draw five containers with different capacities. Write the capacity of each

container under the picture.

Thdla ditghelo tge hlano t$a methamo ya go fapafapana. N9W0|a mothamo

wa setshelo se sengwe le se sengwe ka tlase ga seswantsho.
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3 Mom buys 2 litres of milk and Dad buys another 5 litres. How many litres

altogetherf!>

Mma o reka dilitere tse 2 t3a maswi, tate o reka dilitere tse dingwe gape

tse 5. Na dilitere ka moka ge di hlakana ke tse kae™

Jabu buys two litres of coke and Vusi buys | litre of coke. How many litres of
coke do they have together?

Jabu o reka dilitere te pedi t3a coke mola Asina a reka litere e | ya coke. Na
dilitere tsa bona tsa coke ge di hlakana ke tse kae?

HOMEWORK MOSOMO WA GAE

Write the following amounts from the least to the most and draw pictures
of the containers: 2 litres, 5 litres, & litres, | litre, and 3 litres.

Ngwala bokdlo bja tse di latelago go tloga ga bonnyane go ya go bontsi o be o
thale diswantsho tsa ditshelo: dilitere tse 2, dilitere tde 5, dilitere tse 4, litere
e | dilitere tge 3.

Mavuso buys | litre of custard and Dad buys another 2 litres. How many litres
o|together?

Mmuso o reka litere e | ya khastete mola tate a reka dilitere tse dingwe gape
t&e 2. Na dilitere ka moka ge di hlakana ke tse kae?
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Term 2 Lesson 3[..

Term 2 Lesson 3[..

Kotara Ya 2 Thuto Ya 3L
\l\/or‘king with ccloocit3

Go goma ka mothamo

CLASSWORK MOSOMO WA KA PHAPOSING
| Write the litre measurements from smadllest to biggest: 10,50 3¢,

10 ¢ and 2 /.

Ngwala ditekanyo tsa litere go tloga go ye nnyanenyane go ya go ye
kgolokgolo: 14,5 ¢,3 £,10 {le 2 ¢.

2  Underline the container that would hold the most water:

Thalela setshelo seo se swarago meetse a mantsi:

a Swimming pool/Boruthelo

b Bath/Pafo
c Bucket/Pdkete
3 Underline the container that would hold the least water:
Thalela setshelo seo se swarago meetse a mannyane:
a Bucket/Pdkete
b Cup/Komiki
¢ leaspoon/Lelepolana
4 Estimate how many litres are needed to fill:

Akonga gore go Hokega meetse a makaakang go tlatsa:

a A sink/sinki?

b A bath/pafo?
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c A bt,lcket/pcckete'.P

5 Jabu has collected 3 £ of water from the tap. His mother asked him to collect

10 ¢. How many more litres must he collect?

Jabu o gile ¢ tSe 3 t8a meetse go t8wa pomping. Mmagwe o mo kgopetse
gore age ! t&e 10. Na o swanetse go yo ga dilitere tse kae tga go tlaleletsa”

HOMEWORK MOSOMO WA GAE

Draw and label 5 obJectS that can hold more water than your water bottle.

Thdla o be o ngwale sedupo sa dilo t&e 5 teo di ka swarago meetse a mantsi go

feta lepotlelo la gago la meetse.
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Term 2 Lesson 39
Kotara Ya 2 Thuto Ya 35

Consolidation
Teefatso

I Circle the container that will hold less water.

Thala sediko go setshelo seo se ka swarago meetse a mannyane.

2 Draw the following obJects:

Thadla dilo te di |ate|ago:
a A container that holds I litre.

Setghelo seo se swarago litere e |.

b A container that holds more than I litre.

Setshelo seo se swarago go fetalitere e |.
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Gogo buys I litre of milk and Dad buys another & litres. How many litres
altogether?

Koko o reka litere e | ya maswi mola tate a reka dilitere tse dingwe gape
tse 4. Na ke dilitere tde kae ge di hlakana ka moka”

Can you estimate how many litres are needed to fill

Akonga gore go Hokega dilitere tse kae go tlatsa:

a A bucket/pakete?

b A sink/sinki?

Musi buys two litres of Fanta and Vusi buys another 2 litres of Fanta. How
many litres of Fanta do they have together?

Musi o reka dilitere tSe pedi t&a Fanta mola Vusi a reka dilitere tse dingwe

gape tse 2 tsa Fanta. Na dilitere t$a bona t$a Fanta ge di hlakana ke tse kae?
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Term 2 Lesson 36
Kotara Ya 2 Thuto Ya 36

Assessment.

Kelo
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Term 2 Lesson 37

Term 2 Lesson 3/
Kotara Ya 2 Thuto Ya 37

St.andard units of mass

Diguniti t.$a semmuso t.$a boima
CLASSWORK MOSOMO WA KA PHAPOSING

| Draw the following products with a different mass:
Thdla ditsweletswa tse dilatelago t$a boima bja go fapafapana:
a 2kgrice, 5 kg potatoes, 10 kg medlie medl, | kg sugar.
2 khilokramo ya reisi, 5 khilokramo ya ditapole, 10 khilokramo ya bupi, |

khilokramo ya swikiri.

b Write down the mass of each product.
Ngwadla boima bja setsweletswa se sengwe le se sengwe.
2 Use the pictures from Question | to complete the following:
Somisa diswantsho t&a Potgigo ya | go feleletsa tse dilatelago:
a Mom bought medlie meal and rice. What is the total mass of her products?

Mma o rekile bupi le reisi. Na palomoka ya boima bJa ditdweletswa tsa

gagwe ke bokae®
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b T bought some rice, sugar and potatoes. What is the total mass of my

products?

Ke rekile reisi, swikiri le ditapole. Na palomoka ya boima bJa ditsweletswa
tSa ka ke bokae™

Dad bought sugar and medlie meal. What is the total mass of his
products?

Tate o rekile swikiri le bupi. Na palomoka ya boima bJa ditsweletswa tsa
gagwe ke bokae?

My sister bought meadlie meal, sugar and rice. What is the total mass of
her products?

Sesi wa ka o rekile bupi, swikiri le reisi. Na palomoka ya boima bJ'a
ditsweletswa tsa gagwe ke bokae?

HOMEWORK MOSOMO WA GAE

Find and draw 3 products with a different mass in your kitchen at home, e.g.

flour, sugar, medlie meadl. Write the mass next to the picture.

Hwetsa o be o thale ditsweletswa tse 3 t&a boima bJa go fapafapana go
tSwa ka moraleng wa geno, mohlala, flouru, swikiri, bupi. Ngwa|a boima bJa
setsweletswa kgauswi le seswantsgho.
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2 Complete these sentences, using the products from your kitchen.

Felelet$a mafoko a o Somisa ditsweletswa tsa ka mora|en9 wa geno.

a Mom bought and
Mma o rekile e
The total massis kg.

Palomoka ya boima ke dikhilokramo tse

b Dad bought and

Tate o rekile e

The total mass is

Palomoka ya boima ke dikhilokramo tse

¢ T bought , and

Ke rekile , le

The total massis kg.

Palomoka ya boima ke dikhilokramo tse
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Term 2 Lesson 38

Term 2 Lesson 38
Kotara Ya 2 Thuto Ya 38

Estimation of mass

chongo Ya boima

CLASSWORK MOSOMO WA KA PHAPOSING

Look at the pictures of balance scales. Circle true or false.

Lebelela diswantsho tsa dikala tsa go lekanyetsa. Thala sediko go nnete 9oba

foéagetée.

2kg
5kg
true/false true/false true/false
nnete/Foéagetée nnete/Foéagetée nnete/Foéagetée
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2 Draw the arms on the kitchen scdles to show the mass of these products:

Thadla manakana godimo ga dikdla t&a ka mora|en9 go laeta boima bJa
ditsweletswa tse:
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HOMEWORK MOSOMO WA GAE

| Draw a scdle badlance with a heavier object on the right hand side.

Thadla sekadla sa go lekanyetsa se laetse selo se boima ka |eh|akoren9 la go ja.

2 Draw a scdle bdlance with a |i9|'\ter obJect on the left hand side.

Thala sekala sa go lekanyetsa se laetse selo se bofefo ka |eh|a|<oren9 la nn9e|e.

3  What can you say about the two drowings that you drew?
Na o ka reng ka dithalwa te pedi téeo o di thadilego?
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Term 2 Lesson 3q

Term 2 Lesson 39
Kotara Ya 2 Thuto Ya 39

Mass: Addition and subtraction |or‘ob|ems
Boima: Marara a go hlakantgha le go nt.sha

CLASSWORK MOSOMO WA KA PHAPOSING

I  Draw five obJects, each with a different mass. Write the mass of each obJect
under the picture.

Thala dilo t&e hlano t$a boima bJa go fapafapana. Ngwala boima bJa selo se
sengwe le se sengwe ka tlase ga seswantgho.

2 What is the total mass of the obJects whose pictures you drew? kg.
Na palomoka ya boima bJ'a dilo tgeo o di thadilego ke bokae?

Dikhilokramo tge
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Ter‘m 2 Lesson 3q

3 Jabubuys 2 kg of sugar and Vusi buys 5 kg of sugar. How many kilograms of
sugar do they have together?

Jabu o reka 2 khilokramo ya swikiri mola Vusi a reka 5 khilokramo ya swikiri.
Na ba na le dikhilokramo tse kae tsa swikiri ge di hlakane?

4 Nomsad's mass is 30 kg. Busi’'s mass is 24 kg. How many ki|ogroms less is Busi's

mMass thon I\IOI’Y\SO’S,.P

Boima bja Nomsa ke 30 khilokramo. Boima bJa Busi ke 24 khilokramo. Na boima
bja dikhilokramo t$a Busi di tlase ka bokae go tsa Nomsa™

HOMEWORK MOSOMO WA GAE

Solve the following:
Rarolla tse di |ate|ago:

| 3kg+l6kg =

2 26k9—l3k9=

3 Jack buys & kg of bananas. Warona buys 7 kg of bananas. How many kilograms
of bananas do they have together?

Jack o reka 4 khilokramo ya dipanana. Warona o reka 7 khilokramo ya
dipanana. Na ba na le dikhilokramo tse kae tSa dipanana ge di hlakana®
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Ter‘m 2 Lesson [..O

Term 2 Lesson 4O
Kotara Ya 2 Thuto Ya [.O

Consolidation
Teefatso

|  Draw the following products each with a different mass:
Thdla ditsweletdwa tse di |ate|ago tSa boima bJ'O go fapafapana.

3 kg tomatoes, 5 kg bananas, 8kg mangoes, | kg potatoes Write down the
mass of each product.

3 khilokramo ya ditamati, 5 khilokramo ya dipanana, 8 khilokramo ya dimanko,
| khilokramo ya ditapole. Ngwa|a boima bja setsweletswa se sengwe le

se sengwe.

2 Use the pictures from Question | to complete the fo”owing:
Somisa diswantzho t3a Potsigo yal go feleletsa tse di latelago:

a Musi bought bananas and mangoes. What is the total mass of her
products?

Musi o rekile dipanana le dimanko. Na palomoka ya boima bJa ditsweletswa
tsa gagwe ke bokae®
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Ter‘m 2 Lesson LO

b T bought tomatoes and potatoes. What is the total mass of my
products?

Ke rekile ditamati le ditapole. Na palomoka ya boima bJa ditsweletswa tsa
ka ke bokae™”

c Sipho bought mangoes and tomatoes. What is the total mass of his
products?

Sipho o rekile dimanko le ditamati. Na palomoka ya boima bJa
ditsweletswa tsa gagwe ke bokae?

3 Jabubuys 10 |<9 of mielie meal and Busi buys 7 kg of mielie meal. How many
more kilograms does Jabu have than Busi?

Jabu o reka 10 khilokramo ya bupi mola Busi a reka 7 khilokramo ya bupi. Na
Jabu o fetiga Busi ka dikhilokramo tse kae?
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Term 2 Lesson L
Kotara Ya 2 Thuto Ya [ |

Assessment,

Kelo
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Term 2 Lesson [,.2

Term 2 Lesson l..2

Kotara Ya 2 Thuto Ya [.2
Problem so|vin8 (1

Go rarolla marara (1)

CLASSWORK MOSOMO WA KA PHAPOSING

Add these numbers:
Hlakantgha dipdlo tse:

| Add them in the order in which they are written.

Di hlakantshe ka tatelano yeo di ngwetswego ka yona.
2 Add them by writing them in a different order.

Di hlakantshe ka go di ngwala ka tatelano ya go fapana.

a 0+2+4=

or/goba
b 0+6+3=

or/goba
c l+4+3=

or/goba
d 24+42+3=

or/goba
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Ter‘m 2 Lesson L2

e I3+3+3=

or/goba

f 2+1+5=

or/goba

HOMEWORK MOSOMO WA GAE

Add these numbers:
Hlakantgha dipdlo tse:

| Add them in the order in which they are written.

Di hlakantshe ka tatelano yeo di ngwetswego ka yona.
2 Add them by writing them in a different order.

Di hlakantshe ka go di ngwala ka tatelano ya go fapana.

a 0+2+1=

or/goba
b 2+3+2=

or/goba
c s +2+2=

or/goba
d 5+3+1=

or/goba
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Term 2 Lesson [,.3

Term 2 Lesson l..3

Kotara Ya 2 Thuto Ya [.3
Problem so|vin8 (2)

Go rarolla marara (2)

CLASSWORK MOSOMO WA KA PHAPOSING

I  Add these numbers. Think about how to pair the numbers when you add.
Hiakantsha dipalo tse: Nagana ka gore o ka phera bJang dipdlo ge o hlakantsha.

a 5+6+4=

or/ goba

b lh+6+7=

c 2b+6+9=

d 34+8+2=

e W34+7+4=
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Ter‘m 2 Lesson [..3

f S4+8+2=

2 Solve the problem.
Rarolla marara.
There are 18 chickens on the farm.
The farmer buys another 9 and then another | chicken.
How many chickens does the farmer have dltogether?
Go na le dikgogo tse 18 ka polaseng.
Molemi o reka dikgogo tSe dingwe gape tse 9, a busa a reka kgogo ye

nngwe e [

Na molemi o na le dikgogo tse kae ge di hlakana ka moka™
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Ter‘m 2 Lesson LB

HOMEWORK MOSOMO WA GAE

Solve the questions. Think about how to pair the numbers when you add.
Rarolla dipotsigo. Nagana go re o ka phera bjang dipadlo ge o hlakantsha.

a 3+8+2=

b 5+5+8=

c 24 46+k4=

d 47+8+2=

12 Grade 2 Mathematics



Term 2 Lesson ...

Term 2 Lesson [..[..

Kotara Ya 2 Thuto Ya A
Problem so|vin8 (3)

Go rarolla marara (3)

CLASSWORK MOSOMO WA KA PHAPOSING

| Solve the questions. Think about how to pair the numbers when you add.
Rarolla dipotsigo. Nagana go re o ka phera bjang dipadlo ge o hlakantsha.

a l6+5-4 =

b I5+8-4=

c 2b+7-5=

d 34 +9-6=

e k6 +8-5=
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Ter‘m 2 Lesson L[..

f s7+7-6=

2 Solve the problem.
Rarolla marara.
There were 19 cars in the parking lot.
5 more cars parked.
Then 4 cars left.
How many cars are left?
Go be go na le dikoloi t3e 19 ka phaking.
Dikoloi tse dingwe tse 5 di phdkile.
Dikoloi t3e & di tlogile.

Na go Setse dikoloi tse kae™
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Term 2 Lesson L[..

HOMEWORK MOSOMO WA GAE

Solve the questions. Think about how to pair the numbers when you add.
Rarolla dipotsigo. Nagana go re o ka phera bJang dipdlo ge o hlakantsha.

a 7+4-2=

b It +7-3=

c 23+8-6=

d 43+9-8=
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Term 2 Lesson [,.5

Term 2 Lesson LS
Kotara Ya 2 Thuto Ya [

Consolidation
Teefatso

Read the prob|ems below. Solve them using 2 different methods.

Bala marara a ka tlase. A rarolle o $omiga mekgwa ye mebedi ya go fapafapana.
| I picked 7 apples on Monday

I picked 3 apples on Tuesday and 5 more apples on Wednesday

How many apples did I pick altogether?

Ke kgile diapole tse 7 ka Mosupologo.

Ke kgile diapole t&e 3 ka Labobed;, ka kga gape tse dingwe ka Laboraro.

Na ke kgile diapole tse kae ka moka ge di hlakana”
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Term 2 Lesson L5

2 There were It children swimming in the pool.
7 children arrive and then another 3 arrive.
How many children are there dltogether swimming in the pool?
Go be go nale bana ba I4+ ka boruthelong.
Bana ba 7 ba fiklile, ba bangwe gape ba ba 3 ba fihla.
Na go na le bana ba bakae ka boruthelong ge ba hlakane ka moka™

3 Moaria has 16 crayons.
Her mom buys her another 5 crayons.
She loses 4 of the crayons.
How many crayons does she have left?
Maria o na le 16 ya dikhrayone.
Mma wa gagwe o mo rekela dikhrayone tse dingwe gape tse 5.
O lahlegelwa ke dikhrayone tse 4.

Na o Sdletdwe ke dikhrogone tSe kae?
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Ter‘m 2 Lesson L5

4 There were I4 children in the classroom.
6 children arrived in the classroom and then another 3.
How many children are there now?
Go be go nale bana ba I ka phaposing ya borutelo.
Bana ba 6 ba tlile ka phapoéing, bana ba bangwe gape ba ba 3 le bona ba tlile.
Na go na le bana ba bakae gabjale”

5 There were 23 cows in the field.
6 more cows arrived in the field and then another 4.
How many cows are there now?
Go be go nale dikgomo tse 23 ka tshemong
Dikgomo tge 6 di tlile ka téhemong, tse dingwe gape tse & di tlile.
Na go na le dikgomo tse kae gabjale”
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Term 2 Lesson L5

6 There were 12 pigs in the field.
6 more pigs came to the field and then 5 pigs left.
How many pigs are left in the field?
Go be go na le dikolobe tse 12 ka tshemong.
Dikolobe t&e 6 di tlile ka téhemong, dikolobe tge 5 di tlogile.
Na go setse dikolobe tse kae ka tshemong?
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Term 2 Lesson [,.b

Term 2 Lesson L6
Kotara Ya 2 Thuto Ya [.6

Addition using bracket.s

Go hlakant.sha ka go $omia masakana

CLASSWORK MOSOMO WA KA PHAPOSING

|  Solve the Fo”owing problems. Remember to start with the brackets.

Rarolla marara a a |ate|ago. Gropo|a go thoma ka masakana.

It + (7 + 3) =

Q

b 25+ (3+2)=

c 194+ (2+18) =

d 24+ (17+3)=

e 35+ (It + 6) =
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Term 2 Lesson Lb

f 49+ (8+22) =

2 Use brackets to solve this problem.
Somisa magakana go rarolla marara a.
There were 16 dogs in the park.
7 more dogs came and another 3 came later.
How many dogs are there altogether?
Go be go na le dimp3a tse 16 ka phakeng.
Dimpsa tse dingwe tse 7 di tlile, ka morago gwa tla tse dingwe gape tse 3.

Na go nale dimpsa t&e kae ge di hlakana ka moka™
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Ter‘m 2 Lesson Lb

HOMEWORK MOSOMO WA GAE

Solve the Fo||owin9 problems. Remember to solve the brackets first.

Rarolla marara a a |ate|ago. Gopola go thoma ka go rarolla masakana pele.

a I5+ (5+5) =
b 19+ (4 +6)=
c 27 +(2+8) =

d 37+ (46 + 4) =
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Term 2 Lesson L./
Kotara Ya 2 Thuto Ya [ ]

Assessment,

Kelo
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Term 2 Lesson Lg

Term 2 Lesson [..8

Kotara Ya 2 Thuto Ya [8
Word Ior‘ob|ems — difference

Mqr‘or‘antéu - PhGPGnO

CLASSWORK MOSOMO WA KA PHAPOSING

Draw bar diagroms to solve the problems below.

Thala ditaekramo tsa methalopepetla go rarolla marara a ka tlase.
a There are 22 sheep in the field.

There are 6 more sheep in the field than on the truck.

How many sheep are there on the truck?

Go nale dinku tse 22 ka tshemong.

Go na le dinku tse dingwe gape tse 6 ka téhemong go feta tseo di lego
ka lloring.

Na go nale dinku tse kae ka ||oring?
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b A dozen pencils costs R4S.
This is RI5 more expensive than a packet of erasers.
How much is a packet of erasers”
Tosene ya diphensele e bitsa R4S.
Theko ye ke RI5 go feta paka ya diphumodi.
Na paka ya diphumodi e bitsa bokae?
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Ter‘m 2 Lesson Lg

HOMEWORK MOSOMO WA GAE

Draw a bar diagram to solve the problems below.

Thdla taekramo ya methalopepetla go rarolla marara a ka tlase.
There are 38 girls on the playground.

There are 20 more girls than boys on the playground.

How many boys are there?

Go na le basetsana ba 38 ka lebaleng la dipapadi.

Go na le basetsana ba 20 go feta basemane ka lebaleng la dipapadi.

Na go na le bagemane ba bakae?
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Term 2 Lesson Lq

Term 2 Lesson LY
Kotara Ya 2 Thuto Ya L9

\/\/OI"CI Pr‘ob|ems - Comlocr‘ison

Mararantsu — go baloetéo

CLASSWORK MOSOMO WA KA PHAPOSING

Draw bar diagroms to solve the problems below.

Thala ditaekramo tsa methalopepetla go rarolla marara a ka tlase.
a There are 29 taxis on the road.

The number of taxis is 10 less than the cars.

How many cars are there?

Go nale ditekisi tse 29 mo mmileng.

Palo ya ditekisi e tlase ka 10 go dikoloi.

Na go na le dikoloi tse kae?
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b A redribbon is 20 m long.
It is 36 m shorter than a blue ribbon.
How long is the blue ribbon?
Lentile le khubedu ke botelele bja 20 ya dimetara.
Ke le le kopana ka 36 ya dimetara go feta lenti le le taldleratadima.

Na lenti le le talaleratadima ke botelele bJ'O bo kaakang?
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HOMEWORK MOSOMO WA GAE

Draw a bar diagram to solve the problem.

Thdla taekramo ya methalopepetla go rarolla marara a ka tlase.
There are |7 oranges.

There are 30 less oranges than apples.

How many apples are there?

Go na le dinamune tse I7.

Go nale dinamune tse 30 tse tlase ga diapole.

Na go na le diapole tse kae”
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Term 2 Lesson 50

Term 2 Lesson 50
Kotara Ya 2 Thuto Ya 50

Consolidation
Teefatso

Draw bar diagroms to show the difference.

Thdla ditaekramo t3a methalopepetla go laetsa phapano.
| There are I8 pigs on the farm.

There are 5 more pigs than goats.

How many goats are there?

Go na le dikolobe tse 18 ka polaseng.

Go na le dikolobe tse dingwe tse 5 go feta dipudi.

Na go nale dipudi tse kae?
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2 There are 25 books on the shelf.
There are 10 more books than magazines.
How many magazines are there?
Go nale dipuku tse 25 godimo ga raka ya dipuku.
Go nale dipuku tse 10 go feta dimakasine.

Na go na le dimakasine tse kae”

3 There are 30 plates on the table.
There are 16 less plates than spoons on the table.
How many spoons are there?
Go nale dipleiti tse 30 godimo ga tafola.
Go nale dipleiti tse 16 tSe tlase ga malepola godimo ga tafola.

Na go na le malepola a makae™?
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4 Medlie Medl costs R20.
Medlie meal is RIS cheaper than Rama.
How much is Rama?
Bupi bo bitsa R20.
Theko ya bupi ke RI5, ka tlase ga Rama.

Na Rama ke bokae?
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Printable Resources

Masome ao a gatisitswego (thuto Ya | le tse dingwe)
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